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gt fda Irar feg w9 9 2

16

faast AT 3 ds U At 919 ofaifse Arfog /7t 3 37t goen
it & W3 Bz Bt 3o 2

st

frgzT & 3073t oret ugar, 8 & 3t fitdt & yrust d=tt |
faaz g9 Arfog #t 3 gret goen Ht yere fegges ad 2

Ue Us ATfad HY I1g »are €< At Haa™d

H'3T 3ot Hf €7 ds ds Afag Ht 39 ITHe  Ht Ho9H 57%
fonirg fa| dfemr ¢

At Jiffeers Ao

et 73T Ht €% U6 U HY g1g 391 5U7ed ATfg il HO9™H &
fra 9= fargH &t3T, €8 faasT euH ARfS3 3 2

JgenaT Ht 5737 ATfad

gt faat Se At e i er st &t At ?

et TAS A

nify3 Ad<S (Ft vifiyzAe Arfoe) & st'o fdat 8 St 2

17



Ans.
0.185

Ans.
0.186

Ans.
0.187

Ans.
0.188

Ans.
0.189

Ans.
Q0.190
Ans.
0.191
Ans.
0.192

Ans.
Q0.193
Ans.
0.194
Ans.
Q.195

gy ger Arfog At

J9enTdT &7 AT fag3 g Afog & oe 3 g ger
J?

efenr<t f&fenr ts des Ht 919 a1 goed Arfog At Ho9H &
faat 3 yuz izt 2

ITet JI9TH A

U Us Ht 39 »HIe™A 7t 3 A3 3° ufost far a& ot Az &
T U TH YT eI IT ?

et nHI AT 3 |

o< 7t & T3 37 @5t & Bra st At 2

62 A

U% U6 HI 31g »iars o< i & afoHed Arfae ©f 3t far 3

Iy ?

AT ot g At

U5 Us H Ig nigre 8< Al € TAE € 5919t & 5™ oy 2
396 3796 M3 II3IUT |

e s Y fag @ Ifas & Aw 2

fiis danret, fragr gfimmauT |

et 13 it far A9 ‘3 O ds HY 9 »idrs €< At € 9967
fegnreg ?

ifH3AT |

3TE 1S Ht 3 wifBHI nrr & faost AeT fag@e Aw 2

®dId THS BaSlt fenrBz <t |

It WS 7t 3 fam gt 3* fid ooH e yo9 a9eT g a1t ?
Ifmaug |

U Us At 39 ofgdifde Arow #t & sous &9 Adtea 3
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nr3fHa et fan f foaarat s Jet 2

Ans. I ger ATfog A i3 ITET JeTTH AT |

0.196 U ds HY Ig ofsdifde Afog &t & ARz ffenr fam &
fast 2

Ans. FTgETATOIATS |

0.197 ds ds Hf 319 »igre €< At € AdteT 3" gmiE ds Us | 319
ofgaifee Arfog #t 3 fagghnt € fagurst args =St 2

Ans. HiAn3utet |

0.198 @5 & 7 I8 S AivE i 3 afotes AioE whERe
Aoy Ht € AoHe fam €t Brrdt Fgeret 2

Ans. H waS 343 Afgg

0.199 fifs 338t & fagzT fomast g #t e fity afenr 2

Ans. SEATH |

0.200 U ds A g9 ofgaife Arfog it 3 aeshne @ fag 3 a8
Ifrmit & wyE 7% faamr agerfenT 7

Ans. 523§ |
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0.201 3t f3®ar # & gfimieus & Yoo fan aig Arfog # &
fewas ot 2

Ans. dsdsH g nAs e AT S |

0.202 U= ds At 31g afggrfe Arfog /it € 82 AUST e &t TH HT ?

Ans. UsUs HY g IfSfqHe Afag At |

0.203 d& ds A 39 afefars Arfos #f far € ga3t 3 fedtare ©

Ans. Ta # Rt |

0.204 d& ds Ht 919 IfsfgRs Afog #t & far A 3 Ufs3 38 de
o Jarg 3fnrm 2

Ans. UruarArfag |

0.205 d& ds At a1g Ifsfgrs Ao it € fE8t sfags AN Afaa fee

foaaat ghyrdt St It FT 2

Ans. g9t gt |

0.206 U5 d& Ht 9ig 397 gored it geus 9 dt faos AR3T
g%z fSu fods Ao 7

Ans. 3a1 (fqus) |

0.207 srg™ Huz Ag #t & ds do Ht 99 391 goeg Afag €
TIAG I96 BUISI IB T , At HEE I ?

Ans. JIIBTI |JIHTJ !

0.208 »iJame € g&H T AT JT aEHidt UsS fagt o eforme
6 BT ME ?

Ans. O U Ht a1d 397 ged ATfag A |

0.209 amHist Us3t 3 foa nrd efonmre &1t 2

Ans. Hwiaeyg AfaY |

0.210 ds ds Ht 31g difde fiw #f 2 »aHs AR O Us /I 39
gITed At fol Yo' 596 I8 98 As ?

Ans. A |

0.211 »deyd Arfag & nmddt 3Et &€ 9gt 2
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Ans. H&17051T |

0.212 ds Us Ht 919 difse fiw 7t & 731 73 AN8E Sfamrt ot gaH
d=r?

Ans. v 9| T, AAlg UE T |

0.213 Ayt & FA3I Ufuss e goH faa3 gig Arfog & fésr 2

Ans. dsds At gg ofgaifde Arfog#t 3 |

0.214 §= 9= At g <iffe fiw # 3 995 ugs 33 98 T9s 995
&t Hisurer § faosr ues AgY gamR i3 ?

Ans. 43T ugs gl

0.215 st RSt R At e fusTerat s H AT ?

Ans. sEtdTTdedt |

0.216 HI™® 7' 3, Us Us HY 919 difde fiw #t @ fagr g5 3
gmie, faast aet Qua IHBT 3T AT ?

Ans. FIATBE3 |

0.217 AIA™ &t € faaad THW & 78 & niaeTet farAsd a1t ¢

Ans. I A3 fRw At

0.218 U5 Us Ht g9 difsie fitw 7 AT &<t Urg 59 fol uds ?

Ans. H 9HdT Arfad |

0.219 At 9va9 Arfog feu ds ds /t gg dfte fiw & 2 33

Afosae Adte 38 2

Ans. ¥ |

0.220 g it €t SA T BHAT & Har 8 fI8t Haws S7 &% HarasT
Jfenr At 2

Ans. 3aStEs10%Y |

0.221 A3 fAurdt 37t 3797 fiw 7t foE' @ Sfozs e@ As 2

Ans. fuzet, fagrnifizAa |

0.222 U5 U At 99 dfF Afow 7 e yaw Ht afores Arfow feg
13T AET I, U I3 & AU mHG faB szt AT 9 2
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Ans. oo Afad, HY wids 363 Aoy |
0.223 U5 Us H I 554 &< A & 1507 & &9 faost o<t e

TSI INBUT IR ?

Ans. <= et T |

0.224 d5 ds At 99 viae €< # 3 far rars § fiy oov & ym
deg gafen ?

Ans. HuzIAfog |

0.225 At difSees Aoy fao3 efonr 2 AR ARfE3 T ¢

Ans. fommREfonr |

0.226 3913 A €< i € fdd FET U ds | 39 dfF Aoy i e
TId TS ?

Ans. ©HIT |

0.227 393 {3595 At faa3 HHST 3913 T IE3E A& ?

Ans. SIBEHESHT |

0.228 3913 f3BTs it € I8 Hee ds Us HY 39 9fF Arfow #t &g
TIH IS 7

Ans. TIHIC |

0.229 3B ST AT AT AG ?

Ans. HSHABHS 269 |

0.230 3913 AUsT A faA € ANAT®T A 7

Ans. SIBEHESHT |

0.231 393 Shuz #t € fdd FawT ds ds H a9 Jg Afog A fee

gdd I& ?

Ans. ©HIT |

0.232 37t groeH At 3 ffonr €t fadss faos g Arfog am ar &
YUz St 2

Ans. dsdes HE gg niHaeH A |
0.233 =9 g Arfog 7 3 gme w{Y ofored Arfos it & vy et
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fast & arfum fopar 2

Ans. SEIGEHA |

0.234 37} JO9TH At & & st gt fsdintt A ?

Ans. 40T |

0.235 & Ua H3T JiAd 39 H »i3 82 Arfagdae AIAT ot 3 feezs
Budz ufast I3 fol afag 2

Ans. IHTHHGT €t Sait

0.236 Hf 299 Arfos Afgg faa3 a1g Arfog e errfenT dfenr 3 2

Ans. dxUs HF g vigrs e< Ht

Q.237 UWUHHTHHW@?FHHU'UIH € 990 [<e g Arfog €
mwm%wmmmmmmv

Ans. SEtATHAL

0.238 frut & ufodt AT faoz g Arfog @ AN &t ot 3 i
YUz gt ?

Ans. dsds At g9 ofgaifde Arfog #t

0. 239 »iftm3Ha fefant @ %-57% Adl9x 39 3 < faRe-uRe
Jfox BEt faa3 g9 Afog RS age@e AG ?

Ans. O s Ht a1g vidre €< At

0.240 3u3 At uesT Afag AZ 3° ufost fag3d a9 Arfow € 995
ug ?

Ans. UxUs H Id 5761 €< A

0.241 IHISR g9 /it afories Arfog /it @ fam uA AfE 0% 2

Ans. TYIAGH ISt

0.242 fag3 nirE™s 3 Us U H Id mHIEH Ht & et AoT 7 »i3
IrEt grHT At 3 B3 gTT8E € AeT BTt 7

Ans. At difSees Arfog it

0.243 U5 O At 99 difde i & & 32t 3% # & Jao fa@
3fgnm 2

Ans. Ao 3IBLST

0.244 At »ide Arfag At & a3t feg 308 faat @<t nr@er 3 2
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Ans. fo®asadt

0.245 eI At a6x St9T Arfog fa93 99 Aoy &% Hefus
I

Ans. O Us HF 3d 575 €< A

0.246 U5 Us Ht Ig »iHaeA i § fda’ 3 7t A= & Ig w9 &

BT Hait ?

Ans. Stet viHa

Q.247 At Soorfr Arfog # €t o3t ffe ds /ft g9 Ivem i <8
8995 o3 fdla FET T9d 75 ?

Ans. 3

0.248 7313 g6 T 29 fan § fesT fapr I 2

Ans. 3IQ

0.249 U5 U5 H'3T AT 99 it W3 2 Arfagarfent § g garge &
AT 395 3 grar HSt 91 Hfgar 7t AN 85 © ufgeg @ fda
Haat &t rdtet It ?

Ans. TT

0.250 fHy vg &t faast Afsaes et § g v, Ig uSat ni3 I
ST IS T HFAYUI J ?

Ans. H3TIAI T A

0.251 U ds Ht g »igrs €< f/t Hoa faaz A eA@e A 2

Ans. fRJer

0.252 U5 do Ht I1g afggrfe Arfow #t €t gfenret @ 3 & 9a
fagt & faaret 7

Ans. 3TErFTETH

0.253 fong 3* fdd A mie Us Us HY 91g 391 sore Afag At €
Jrfo feu ds da At grg difde fitw it & yars dfemr 2

Ans. 33F®

0.254 ds ds H 99 a76d €< HF & QeHnit AR fdgt § niue 57
It 2

Ans. dIzETS

0.255 a1 AAest 9 i3 g9 Arfoes & grat 9et ?
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Ans. f&€x

0.256 39'g T Aes & d96 € AF 3 Ufgst ga faa3 ag Arfog &
AT 3T 2

Ans. dsUs H 39 Iffars Arfog &t Haaa

0.257 2" ut3HT At € »raiHe & yEt e de Us Hf a1d »iars @<
it & ooz Afo & AEUsT &St 2

Ans. &J3JeT

Q.258 a3 FEg i 2 Jg it & 5T €A ?

Ans. HF IHSE At

0.259 & €9 fRw #t, gar di fiw 7t 3 g & uu ds Us /Y
31g difsie fitw /it Horas & fad altst 2

Ans. A8 3BT

0.260 A Ayt Arfos i & st feg 98 fast et w8 9 2

Ans. fo®a® adt

0.261 533K ST wan faost ot avast gar fRe I 2

Ans. Ftniee ATfog
0.262 fiy e @ faoz Hos IefiY & ds de HY 39 afgaife Arfag
it & HiTh Uit St fqurest args aaereint ¢

Ans. S gerAfogHr

0.263 faa3 g9 Afog & g fuzT, 99 U39, a9 € w3 99
USTTIETHEIYUI T ?

Ans. Ux Us Ht a1g w9 €< Ht HaaH

0.264 ds ds AT 39 offgrs Afag /i & gt &g steg it § fdt &
yg'g B fo S 7

Ans. Ad®EE Ut

0.265 dx do At 319 difde fitw /F Hoa & Jfenret € f3ux &
IAH folgt & fsamet 2

Ans. ST 9o Ifeg At

0.266 & Us H I miIrs €< At HIG™H & “UIH IR &t ue<t 578
S faa3 Jefid § AeHTe3 &3 2
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Ans. IS UG gHaT A

0.267 U5 U5 At 39 5761 o< #t HOWH & A8 3 Ufgs’ faast
Af3aras et 7t 3 sors o3 2

Ans. St €%3T Tret At

Q.268 319 Afog ¥ faox fumrs Jefify & Afor FIBMI i3 9T 6%
ST s = fums e J famrr 2

Ans. 3mEt3g fRw A

0.269 g5 & fiwt & yAmeT gar8E »i3 gA3T &t ATT 596 BET Hals
R eI ufost st g fRum M3 Bafe sz g fegie
H3TH & ot Guer fezT ?

Ans. fAHIs O A=

0.270 At I feg Az 3° ufodt o=t fao3 g Arfow #t €t Begs
ST TS T ?

Ans. U5 ds Arfod AT 39 a76d o< At

0.271 dx ds Ao HY I 5761 &< At &, 37et HaesT i § fda
A% AT 596 € HITdT AHT YU JfemT ¢

Ans. 547

0.272 37t Hory t & ds de Arfog Ht 39 a6 €< A/t Ha9™H &
faaz fupd firy 3° g wa & Jar &ar ?

Ans. et safloa At

0.273 H3T &9 i § viftrrsHa i3 gfen<t fRfenr f&g fdat 3
fods a3 2

Ans. H3Tdigr At
0.274 7€ Aadhr yrs & furme ge J famr 37 @R & 37et 379 fRw
Ans. 3= EEaT fRw At
0.275 s/9oH™g (Ut 99 ©F Tt fao3 g9 Arfow © v Gt
et T ?
Ans. d&ds Afod H 99 a7 €< Ht Ho9H
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0.276 ‘TAe 3J, §Az A8’ T ¥9s Us Us ATfag HY I 5764 &<

A HogH At 3 fam i3 ?

Ans. Har®

0.277 3¢t 37g fRw & AJET AR 8gf ANS €57 € wo @ 48
HEd Ao ?

Ans. f3&

0.278 ds Us A" HY 919 djg Arfag At HooH <t gat fad wiar
g ARfsz 3 ?

Ans. it 1430

0Q.279 13T EHedt At & RISt eT ot eR ?

Ans. stet &9t

Q.280 g w3 T dtgzatt B fuznr fdlat & faar AeT 3§ 2
Ans. et HaesT H

Q.281 et Arfoars € fusnr e fuzra fagt § uER T 2
Ans. gg geTATog At

0.282 s ds At 919 dfF Afog # € fda ues Agu nigst g amar
Ty fiw it & wiuE I8t feu 3 Aer st 2

Ans. f&x

0.283 19 39" <9 974 A< faa3 gg Arfog /3 883 ?
Ans. dsds Arfog H 99 aTd €< Ht Ho9H

0. 284 »dE A (F<h)  AuE faoz garfeg J ?

Ans. mJtIT
0.285 ds 4 At 919 gy Ao it @ A% 2008 {99 fos<t gragret
feer et faprr At 2

Ans. 300 AT
0.286 a3 AE 3 ufa®' ATY o IBLST f&T UA 996 TAH USAT
it & fdat & aJ @ gg o gt e yg9 &3aT, viffg gar a
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dfonit & grogret g8 |

Ans. s ety fRuH

0.287 Ut & A3 3 ufowr arfeer wiue Jar &7 fdgr 3 fafmr
At ?

Ans. U5 G Ht 919 viare €<

0.288 3¢ Y #t T ues "R (fre) wioe weat 99 fegt 3
wi&EYd Y UJeT 4, 'dwde 919 3 8" JT T HiE g
3 IS dizT ?

Ans. It A3 (et s fiw )

0.289 #t 919 diffe fiw # 3 eHert dis Arige fdgT 3 feweBe
ot Aer et ?

Ans. 3t Wat fiw

0.290 343 Ht THeW wigy €8 G5 4 At 919 difte fw H# 3
frrar & fiedt firea fa@ uaftmr ?

Ans. ¥gd ¢ foHd 58

0.291 45 O Ht 99 e fiw # 3 ds G At 919 dfg wiog ##
o U ufe3g gy fon mars €3 feuefen w7

Ans. qrgendT Ht feueng o #, 343 7 THeHr Arfog

0.292 37t wor fRw +t @ Wz At T ot o At 7

Ans. HEt fenrgt

0.203 st ew fudt e it et o /it 7

Ans. ST HUT H

0.294 {993 19 wiioe # 3 4s 4 Ht 919 9fg wive # & Aues
izt ?

Ans. 5 G5 Ht 919 nigws €<

0.295 G5 G5 At g e fw # 3 s O At T viows €<
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o fauz Hf wife o fagr a% 3 et fire § 3fmr ?

Ans. g HS

0.296 fqo3 e Afog M AR I o A3 AT AR W
d Hdte o3 famr ?

Ans. G5 G5 Ht 919 wiaws €< Ht

Q.297 iy goH €9 A9 3 ufgB Tg Adte w3 water e fasw
fégr§ foar wer 3 ?

Ans. U5 G5 Ht 919 wigws €< H

0.298 45 G5 Ht 99 &8a €2 it 3 »ue ies IB 9 fdar
G A Fe ?

Ans. 4 SeHT

0.299 §5 G5 Ht 919 a5 < #t & ufost et fagdt i ?

Ans. W&t fdg grafid ded € €5

0.300 G5 G5 Ht 919 a5 €< #ft <t St Gert faadh it 7

Ans. WaiMT w3 & € TaiHd dEd’ € €5

0.301 95 G5 Hf 919 3784 €< #t € gt Ger faodt At 7

Ans. ferent grafia dedr e €5

0.302 AA9 & A9 3 Hideft mis wdle Q@ fagt & wifw ARa
dft3 famr ?

Ans. U5 G5 W3 91 39 Ht w3 8 Ariggaen &

0.303 45 U5 Ht 919 a5 T it & wet {43 g g gaw @ ?

Ans. 193mr

0.304 G5 G5 W3 9T d9 it M3 8¢ Wiiggmten & wi3H
AFag fagr enmar a3t famm 7

Ans. €es 239 HS Ht

Q.305 IFEHT Ht #3t AgY Aoy fan Fe's §3 Aseta d 2
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Ans. Tt e3foerz miog

0.306 G5 G5 H 919 5769 €< #t w3 fior fég Jet dinct ds O
7t 919 <@ wriog # &9 fam frody I5 Tam 3 ?

Ans. fHu dmfe

0.307 Sewh € o fagzr aw U5 G5 At 919 s6a €2
996" <9 Aasrely 1&g nifenr w7

Ans. I fieas

0.308 % 4o Ht 919 &'5d ©< t € AR faga" Hars Ard HE 7

Ans. ¥&d

0.309 9183t Imadt ds G Ht 919 S Aiiow Hft feT fam v €3
ARfs3 3 ?

Ans. "dT 151

0.310 45 45 H 919 viere &< # d5 05 Ht g s6a &< # §
yfost @9 I 1@ ?

Ans. W& 1532 fSg

0.311 fag3 919 Arioy dfen § v 3 faor @ et < fefenm
fée we ?

Ans. U5 G5 Ht g wiare €< H

0.312 45 G5 Ht 99 vare €< #f € Higs w3 Hist # faodt Rer
Jde A5 7

Ans. ®J@ & R

0.313 I8t Tt g1 46 G5 Ht 919 g wiiog # €9 fan #iar
g3 mifs3 3 ?

Ans. ¥idT 152

0.314 fir fef3om <t 78 3 ulogt #ar faodt At 72

Ans. Ht 33913 Ht miiEHg Afog
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0.315 U5 U5 Ht 99 dfvdifee # 3 o wiizne mwioe e fagzr
fawr geafonm /7

Ans. H 8J91F Friog

0.316 45 45 H3" TWa o t w3 8¢ Ariggien § wafde fam
Fas €3 dftmr fomer 7

Ans. &3 gad

Q.317 3et Htew +t 919 we fS fan Aer g As 72

Ans. s (Grrfmian)

0.318 3¢t 7t ©w # § foe Hdte dizr famrr ?

Ans. gEt feT BUe d IS 32 99a

0.319 §5 G5 Ht 99 391 goved wigy Ht & Adtet o W3 fam
Aas €3 dgt 7

Ans. 1675 €lrel, geat 99, fest |

0.320 §9 fagzr IgEnr wrige 3, fim s €3 O o Ht a9
391 99729 Arioy Ht & Adtet Jet 7

Ans. JIEAT HiRdH Ariod, great 94, fost

0.321 G5 G5 H 919 391 goeq Aoy #ft € Uiz U3 & HHA
fagrd dfzr ?

Ans. 3Tt Bt A 2T At

0.322 45 45 At 919 391 gored Wiigy H € ule3q U € ARAY
frm vams €3 3T famr /. €8 foozr goeme wrfoge 3 ?

Ans. TGEHT Ht 9 i Arfog Ht

0.323 "0 45 Ht 9 391 goveg Aoy " € ufesg "MR" § A
ndeyd Arge fen@e €t e fagr 3 foaret ?

Ans. STt A3+t (It Hies fiw )

0.324 3aret & B3t e Uls 9y Ao # € {98 U39 mdte I8
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S 7
Ans. 2U3d
0.325 J&t € 389 § "JeIs o fagr 3 fiisr ?
Ans. U5 s Ht 719 difde fiw #
0.326 G5 5 At 919 difee frw +# & ufosT va faoz /t ?
Ans. el e
0.327 g9 g€ iy #t goeq & wat gwaast fan § gt ?
Ans. HHfSH 1=
0.328 &9 gataz I@ Ht § I wdte oz fapr 2
Ans. W& 1742 ¥Rt
0.329 319 galaz I¢ it § fan yara wdle disr famr ?
Ans. 35T &' HiH U3 3 WS4l 99
Q.330 343 H Iga Aoy € fogHe fagr 3 Tgerfemr 7
Ans. HaaT 93 i #f
0.331 343 Ht Ig9 wiog fan st B faee Aseta & ?
Ans. dEed
0.332 gt fw sgnr #t © woH ae dfenr /it ?
Ans. 1791 giret
0.333 "HOHS e YBHT fdgr § dioe I6 2
Ans. FIEQ It fRw a8
0.334 ufod "ffd gegsd” de He 7
Ans. FIET gdt fRw a8
0.335 fag3 grau & Gt odt fiw s & gaeret At ?
Ans. TEEHd Ht U Arfog
0.336 G5 G Ht 99 9@ migg # & 48 so= & @t
g d ?
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Ans. 15 ST=T

Q.337 {903 A1t 3913 & A9 3 =u gt Us G5 Hf 919 dfg Aiog
fGgemd ?

Ans. 3313 JEig Ht

0.338 3913 aHET it € faat a1t G G5 Hf 919 9fF Arios Hf 6o
W ad ?

Ans. 61 FET, 18 dar 9

0.339 3913 YaHdE it € fdet aet G5 G5 Ht 919 9@ wiog At
ffgemd ?

Ans. 1 HSE 991 AJdT fe9

Q.340 393 IHEE it < fdet =t G5 G5 Ht g g Afog
fGgewmd ?

Ans. &3 HeE, 991 9H3

0.341 4o U Ht 919 9@ wriow #f <t w48 g g waw 3 2

Ans. 31 dwdl

0.342 U5 G5 it 91 3 wrioe # © A9 3 ufos gt faozr 3 7

Ans. fidt arar
0.343 frea3dt @ 13 3 ds ds Afog A 99 576 €< At HITH

&939Yd 3 fHUT 7% JiHS aJ6 Bet fam e 2

Ans. »E% TS

0.344 Ht JoofA Afog €9 ds ds Afog it a9 IHER
Ha9H € fdd g a5 ?

Ans. f3&

Q.345 U5 U Arfog At I3 »idrs e At 98 899s it arat At
FYHat Afag At 9 99 niFeudt <9 aod Age fdaf @9
Bugs i3t fanT I 2

Ans. i
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Q.346 It fiwt & uua fdst 3' Bg It ?
Ans. g gerATfog At
Q. 347 3T HuE AT FI7=T At T AIH AHTY © o5 <0 3adtgs

e A1t efAr faar 2

Ans. fEaHdter

0.348 =9 ger Arfod #t <t 89t /t afores Arfog #t @ fag3 uA
AfES T ?

Ans. ueTug

Q. 349 7< U5 Us HY 39 Ifefgre Arfog it Hagmw st fea g &
A & 9918 91 37 8T6" ¥ 7% faazs Ry As ?

Ans. sTEtHat fRw At

0.350 ¥ U Arfog HY 319 57ad €< Al HI™9™ & It HIeTaT AT &F
3%t feg Jgg ae uret ?

Ans. »USt AATE AN

0.351 89 faoz niAETs I fAR § »ie o9 Ui Gt & uast e Ag 3
e faard ?

Ans. 91T Arfog

0.352 U Us HY 39 a7ad &< it & fan 3 5293 a9s et faar 3
far 3t ?

Ans. I3 33 AH 3 5293 F96 HET faar, far g 3 &t |

0.353 U5 U A J)g »9rs o< At § JOHf3 & ISt fam ud
fHagt 2

Ans. UsUs HE g viHIEHHAT |

0.354 8r fiy et & & €R, fAost fea ag & usat, fea ag &
get, fx g9 &t vi, fEx gg <t @t 3 f8a g9 & uzest
IJs 7

Ans. sistsatH |

0.355 d& d& H Ig »HIeH Ht & A3-U3 3 3-873 U3H 96
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B St JIH A 3T 2
Ans. ufg® yas U Ao |
0.356 iy o9 € yor9 &t s Us Ht aig IHeE A At & fagst yar

HI &It ?

Ans. HFE |

0.357 d& de H Ig ITHe™A At & far wirgrs § fid oav &7 yea
aeg gIfenr ?

Ans. HInifsAT$ |

0.358 fogz Afgg ff8 T Uz 5% Us Us Hf Ig »ars S /1 &
B o JH AT &9 & ATG AT S9at frumet ?

Ans. ®J9feg |

0.359 Hs 1602 <9 U5 O HY 39 dfF Aoy #f faus &t Aer
U% U HF 39 miars < it fags fiu 3 &2t ?

Ans. 3SETgEeHAT |

0.360 Us Us At 919 ofgaitse Arfog #t & fiut &g die ar Uer ags
et ot JIHEH 3 2

Ans. HAST, W3 3 SHIAHG STTA[TAR |

0. 361 »@eyg Afga faa3 g /t 3 ae eArfen 2

Ans. dsds Ht g 391 50E9 Arfog 7t & 1665 SR T |

0.362 ues Aoy feu fagsT Uss ds ds At gig daifde fiw /&t @
II&T T IIT e ?

Ans. Us3fHee3 |

0.363 I=HI3 aaraT e f3nrg ag=rfen famrr 2

Ans. F& 1680t feg |

0.364 g g Ao it 3 fdd U= gg it & SA THS nRus |3 ?

Ans. 500UsE |

0.365 Saret e gu Ry St A A T AT e B U3aT e 5T eR ?

Ans. 1.FdAT 2.783HS |
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0.366 U Us Ht 319 afs 3rfe Arfog #t & fagar senrsr afenr?

Ans. Hodt (MEILfeR)

0.367 Arfow At 319 difse fifw /t Hoo™ € Arfosmme frgt €t 9 A
Bve g mdtet 3, Bt erdt sTH AL 2

Ans. IoTHoed fRw At

0.368 At Ay 7 Afog / & Tt fao3 g9 Afog 7t & Gt
J?

Ans. rAfog Ht 919 5 €< Ht HaaTH |

0.369 == Sty fRw 7t = far @ A o9 ST AR oz 3 Sy Jfenr
37 B I g7 H @ ATIHE HII® <A 7 a3 Ade® AT 2

Ans. FAIRZAHBH |

Q.370 Us Us At g1g Jifse fiw / v 3 Us Us At 919 ofF Arfas
i &7 ures AgY feuer8z €t Aer far R aa=ret ?

Ans. 3t HET fRW A |

0.371 d& ds At 919 ofF Arfos it <o 3 46 Fee a6 ?

Ans. 5872HETE |

0.372 d& s A 919 ofF Arfag it 99 “nidts I’ {36 96 2

Ans. 14

0.373 ds ds A 319 afg Arfos it e “ fhmfas 9ar’ 16 95 ?

Ans. 3

0.374 d& Us At 919 Jfg Arfog 7 feg ‘a8t 3t Aafs 3t arg fam
Mar3J ?

Ans. 330 »far |

0.375 d& ds A 39 dfE Arfo it feg ‘eust gar’ &8 9% 2

Ans. 6

0.376 4 ds A 91g ofm Arfag it <9 ‘et Irgr’ fda a5 2

Ans. 4

Q.377 U5 U At 919 dfF Arfog At e fagst fadt” €t <93 it
ISt I ?
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Ans. JOHHT |

Q.378 H3YAT Arfog €t yeeret o »ids ISt aret ?

Ans. 1574t |

Q. 379 FA3YAT ATfod F AST e HYIs JfenT 2

Ans. 1583#:3 |

0.380 A3uAT Afog RS9 faR g Afow # & Huds
gg<fent ?

Ans. d&ds H gig nidHs €< Ht HI9TH |

0.381 ‘gg " 8x’ Ba1 far arg Arfog #t & eArfenT 2

Ans. d& 05 A gig IHEH H HISH |

0.382 Us U At I)g ITHEH At HO'I™H & Wiz A< ©F yeret fan
4T 3 MIF IISTE ?

Ans. THSHSI ST IB |

0. 383 »ifi{3 A9<g &t yeerEt ae Jgt ?

Ans. 1577 &t: |
0.384 Ht gforieg Arfog 7t &t §t'g o Jut aret 2
Ans. 1588

0.385 U Us H g9 qg Aoy At &9 “98 hfsey o937 ysy
fog38 faaeg wia® HIfs wigat A a9 yAre 117 fdst @

nrgerd ?

Ans. 33T¥9 |

0.386 Us Us Ht 319 afF Arfag i &g “a8 hfsam yrrfe” fdat
TIeEr Y ?

Ans. 52329 |

0.387 U» ds At a9 dfF Arfow 7t &g “a8” Afsa a9 yArfe”
fadsteanBery ?

Ans. 8T9 |

0.388 Us ds HY g ofm Arfos it f&g “98 Af3aH 593 yay g9

37



yrfe” fdat egeand ?

Ans. 2T9EIAI |

0.389 ‘3’ 3" Aa® A3 & I, &g gus a0z g Arfog & s
g Afog ft S UsEE &9 ?

Ans. U4 HE g vigAs e At

0.390 »3T diar #t €7 Ues A9 fam efonr e A% Y=g i3
faoor 2

Ans. Tt

0.391 37t waEhr 7t 3 ooz g9 Arfag i € 99wt &9 findt &
TIYUI AT ?

Ans. U4 H arg 391 9a7ed Ay At

0.392 stet 9 it 2 fags mIs9 & mtEt Saret & wu feg It 7

Ans. FdiHTH

0.393 3+ fhesg fagdt Qet AN ds ds Ht a9 oo €< At
HU9™H € 996" feg nirfenr ?

Ans. gt

0.394 == g Aoy 7 €% Us Us H 99 dig Arfog 7t & ues
AgY fo8 9y & i afaries Arfas fewrer famrr 2

Ans. HH3

0.395 At Ayt Arfog it <t gt 9 s gef S eaz ISt agt 9 2

Ans. fg®a® adt

0.396 I=HMT AT 3 Ufos’ s Os HY I afgdifde Ao it 3
faat 3 nirfamar et 2

Ans. H3Tdiar At

0.397 ds ds H a1g 341 g97eq ATfog #t € ues AT € ARG

f&&t Fqr Ifemrr 2

Ans. <

0.398 fgo3 grarer AHT 12 @ 3 Ufo® I 996 Mide I9H & AHT
12 =7 3 ufast fufemr famar 2

Ans. HIt I
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0.399 At afores Arfos feu rae St €t yar o ger Afag it &
faa3 g Afog @ gaH s ® A it 2

Ans. Us U Ht 31g ofgaifde Arfos 7t

0.400 > ds Ht 39 »igAs €< /i 879 39 ATfdas et Fe 8 &
e’ Ht e999 Arfag nire 3 far AT 3 89 gt Sufbert, 8R
[ § fam &t 57 yarfan AeT J 2

Ans. WBATG 398 (Y AT 39t o0& UHt Usal)
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Q.401 37t waEhr it § ds ds At I1g 3a1 gores Arfog /t & faost
AeT AUt ?

Ans. ufswie3ad feg

Q.402 13 fearet 7t & ooz arg Arfog & AN At f3nfamr 2

Ans. U5 ds Ht grg viare g wt

Q.403 Busht Bu= Quds 3Et 37y fRw At fdd fes fies 99 2

Ans. 22fes

0.404 3939YT feu U Us A J9 584 o< #t 3 €U & Usst &
Burg aafent fagz rae Goga a3 2

Ans. dit niefg Fatr

0.405 goHz St T7F € USSt § Harst o 378 BTt Us Us H
g Jifsie fiw #t & fdat & 3fmam 2

Ans. g ot fRw At

0Q.406 H3T 3T H & Ty AE 3 ufast fog fearsT stz 2

Ans. sSI®

Q.407 32 99 & Qu9 Us Us HY I9 57d o< /I & fam altsT ?

Ans. =TT

0.408 mu<t  fost € RISTAG ?

Ans. ST gerATfog A

0.409 U5 d5 Ht 39 &'ox &< ff 8 8995 ¥9g W faa3
Jarfega ?

Ans. I3yt

0.410 U5 ds Ht Ig 391 goreg Arfog 7t 3 Al 3 ufast far yo
3 fereTs |37, 80 4o ooz gouH fea ARfS3 T 2

Ans. JGEnmTI /Y HiA oA ATfag

0.411 d5 Us Ht 39 »i9rs < it I8 et AT »i3 9%<s i §
FuRE Qud3 Bt & fagst aret er Qaas o™ 7

Ans. IHIS T TI

0.412 HBISeH' € &8 HY HIHE € 397 § fagst Har <o ds Us
H g difde fiw it 3 nug 319 &% 13 @ wre 3o 2
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Ans. H 9HdT Frfog
0.413 ABS HO®" € “J1% difde arfel adt™” &g me €99 ANS 3%

s A 95 ?

Ans. 57

0.414 U5 ds A/t 9 dg Arfow 7 Hoew &8 Ag 3 miadt Ada
faaz g9 Arfoe #t e Qegs dizr dfenr I 2

Ans. U& Us HY 1g »iors €< Ht

0.415 U5 ds At g oo €< At €t Az 3 2t et fagdt T 2
Ans. St

0.416 24t Grias & get ds U A 39 5o &< At 3 faost

GeHt €975 Bugs |t ?

Ans. gt

0.417 {393 Afgs <9 Us Us Ht 39 &7oa &< i & Ulat <8 fanre
YO FCT 3 THEH TS Jfemfm At 2

Ans. H®3I®

0.418 3=t waehr it Az 3 ufost fag3 g9 Arfow & AIs e
g ?

Ans. d&des HE ag 391 997ed Afag At

0. 419 JIeIT dBAT AT © AJSY € 2 fdat & sarfen ?
Ans. gg geTATog At

0.420 g Us H g difde fiw /& gon & u3g faaht Hart

B3ft 7

Ans. 17

0.421 ds do At 99 a6« €< it & et & ygr g fags
g fra @ gfo 3 pg o1t 2

Ans. 3IEES At

Q.422 faat & H3T Hit i € STt de T HE yruZ T ?

Ans.  Stst niout A, St g At

0.423 g H 39 »igAs < At & AIEr QuIS Wt diar 7 e
A gfenst 393 fegd ?
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Ans. 15FA%

0.424 U5 ds A g9 difte fitw & Hoom U fusT ds ds /
g 391 FUE9 Afog il € Ues FiH 8& ®Et Hast AHS
fagare ?

Ans. A St93yT Afag

0.425 TvaT <t A fed Adte I8 mdle fRwf @ ues AStST =@
ARG foigt & &i3T ?

Ans. et HI® o At

0.426 T®H < frme ds ds /it g difde fiw /& nmudt Far faost
Bt ?

Ans. HF Ha3HAT ATfag

Q.427 FeIs™ € 996" Us Us HE 319 dife fiw 7t 3 faast dar 3°
TR ST ?

Ans. HF Ha3AT ATfgg

0.428 far AR’ Arfagamer widts fiw & @ niavs 3fenr, 8F AR
U U H g Jifde fitw /t o faE As 2

Ans. A uQe Afog

0.429 At i@ 363 Afay #t & ues 837 fdgT € nrfamr 5%
IS} JITH Al »i3 g9 gET ATfag 7t & f3mma a3 2

Ans. Us U HY I1g ofgaifse Arfog 7t

0.430 At Ay Arfog it &t gt fRe fd8 se I3 IR I5 ?

Ans. 10

0.431 37t 737 7t 3 U ds H Ig 391 o9 Arfog A & AR
8T M o9e™s o fdat S wg I3 dt ?

Ans. TdtR<TIH

0.432 =97 g=r Aoy At far 34t I 6 & A afores Ao #t <t
&g A< 9 2 JY 9 As, 8T Ht gfores Arfog it @ fam
URAE3 T ?

Ans. ueTug

0.433 t 9vdg Afag <t Har {9 €3 Afagarfent <t mdi<t @ Aa
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3d for o<t & H 9HdT Afog 2 Stou § fdemss A 3
37 St9E faar I 7

Ans. i® @9 i waft

Q.434 g U Ht 919 difse fiw 7t 8 350 AT yarw fearsT 1y 39

3 fa® Haten famrr At 2

Ans. HFueaT ATfog

0.435 ‘3AT 3* fdt er 8y 3°, feo 596 fags g9 Arfog & grar g
Afag At S UIEe ¢

Ans. O Us HF I viHIEH A
0.436 Us U5 H3T a1 Ht & Ales & mirdat AHT foal g3t i3t ¢
Ans. A&S3T (HIITHSI)

0.437 U& Us et H3teH At Adtet AN f3o3t gt 27 us a9 99

HS ?

Ans. A Ay Afog

0.438 d& O Ht 91g »Irs €< Ht Ho9H & grgaHTaT & gret fags
g1 feg Buas a1t 2

Ans. TIHT

0.439 U5 ds H g9 difde fiw 7t Hoom <& faost aet & ue
aa?s@uaa@ﬁmfnw;ﬁﬁaansﬁ—ffamﬁﬁéwa

fomr 3 3w+t ot =79 2 Here FAS |

Ans. HIAT

0. 440 amHist Ufs3 far € noeet <9 ds ds A g 391 gaeg
Arfog 7t Ho9H o AIs g nig 2

Ans. Ufs3 faguraH+t

Q.441 =g ger Arfog 7t § Ag 3 ufowt faos g Arfow & grfonret
3% BATQE T F3TIT AHT YUz femr ?

Ans. dsUs HE g vidgie €< #t HI9™H

Q442uﬁuﬁﬂ?aﬁ»|aﬂﬁé€#r€°rﬁﬂﬂavﬂélﬁaéf gu
»mmwammm%s%?

Ans. @dgnFElTéud'FlTﬁrHW
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Q. 443 2yt Gwia faos a9 Arfog it & Boas St It 3 ?

Ans. U5 ds H 3d aT6d €< Ht HI9H

Q. 444 rmeTEE U5 Us H 3 5761 €< A Ho9H & far & §urg
3T ?

Ans. H®I I

0.445 d5 Us H 99 56 €< ft HOS™H & HAS &d1 € §ug
Safentt fagz rge Buas 13T 2

Ans. 8% ad fesas

Q. 446 13T 3g7 7t & nigeTE fS It fRwT & fog Adlet = A
W3 ?

Ans. HF Ha=3AT ATfag

Q.447 598t 598" Us Us HE 39 difde fitw 7t Hog 3 fdat & 32
3T ?

Ans. 3Et gfg3g fiw At

0.448 U5 U5 H 919 576 &< #t nust fagst Gemt €9 JiouHs
e ?

Ans. ufgst et

0.449 U5 Us H 99 576 €< #t Ho9H € fagz fumrd grefiy @
#ﬁywﬁgaamwéwfﬂeﬁ@%mm
ﬁmm@%ﬁHd'd'H%edHo'ﬁf&Emﬁ?

Ans. st STt

0.450 3973 <94t fidt IAT & It auTet 9, gvar g2 ATfog A @
yge feg 596 faos gg Afag 3 899 ?

Ans. usuwn‘famaﬁafaemﬁra#

Q. 451 EI?iU?SFﬂ'HI‘U’BTHHTﬁTHFﬁ'WFETWWUﬁUﬁﬁ
mmﬁw#mﬁ%ﬁﬁmmﬂ?

Ans. mﬁwmﬁm

0.452 ‘Ut <t gt fao3 ag Arfog #t & Gogs St ot 9 2

Ans. d& 05 H g 576 €< A HI9TH

0.453 U5 U5 H 39 5751 &< #t Ho9H & ufodt Gt a° By
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St ?

Ans. 1500%€t:

Q.454 At »ify=zAg Arfog feu U A9eT 06 w3 feat U Aoedt &
2 g Arfog € f&a fumrg grafiy & sarfent | Gt v at
BHI ?

Ans. S gerAfogHT

0.455 At Ay Afag & giat feg a vigdt g fdat g nifenm 3 2

Ans. fEg=g

0.456 Ht »ideys Arfog €t Itmr BET ds de At g aifde fitw 7
Ha9H & & fafgnt & 8rrdt aeret ¢

Ans. UA

0.457 d5 Us A 99 9y Afog it HawH & gfenret AR frgsT
JSHEHT nifenr, 8T fad wiar 3 AgfeH= 3 2

Ans. 1000 iar

0.458 A e3foarg e fagr U ds H g difde i & Hoaw 3
fore rrfanr 2

Ans. A »ideug A"

0.459 ‘fegt =gd1 fed It 3, feT 79w faa3 Ig Arfog & grar g
Afag /i ¥ UsEe &9 ?

Ans. ds ds At 99 ofgaifde Arfog wt

0.460 S=Hiwit T35 IEt HeRY i fags Ao 3 ds Us H 319

376K U< AT HUTO™H © 9967 feg M ?

Ans. ®J9

0.461 35 Arfors & 8GRz ffT A3 3 Tu AREIR fauz 32 Arfag
Aeds ?

Ans. 2 3% AT H

0.462 fogz g2 Arfog & uoH uu fee Adet uret 2

Ans. FeditgsH

0.463 U U w8 T Arfod 7t & 8t a9 Arfoes AN AE 857 &
IS grdret &dt fHet /i, fdd a9 Arfoes € ears o3 ?
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Ans. »is

0.464 fagst foma™H ReT 3° yHs 7 & g9r g Arfog 71 3 Us Us
H3Tdiar ft §YST et ez e gaa 13T ?

Ans. ymFEr g8 €t

0.465 f&g 595 fooz g9 Ao /t & 37t Hat fHw it § &9, A a9
eﬁwnw%a%@%aﬂmwwﬁ’@ aro'a?f—o'aa&
He & i fder 3 7

Ans. dsds A aig ofg Ife Ao At

0.466 s=r €t fiw 7 ¥8° ds ds |t 319 dfg Arfoe i € 78 faus

AU &8 343t 3 fagans a5 ©

Ans. TT

0.467 AAST fefenr ds ds At 919 391 goe9 Arfog #t & fdgt 3°
Y3 St ?

Ans. g9 ger ATfag At

0. 468 Sust Arfag = feq ge s ez feg Jev d ?

Ans. g9

0.469 Ht st Arfog w7 €t ues ISt fAR virETs 3 899w I,
88 fauzT JeuH ARfS3 I 7

Ans. e Ht Het Afag it

Q.470 U U At I1g 341 goreg Ay At € AdtE AN AS 3 ufost
@W%hﬂ%ﬂm@ﬁﬂﬁﬂﬁﬁaﬁ?

Ans. §'Téh-|3‘1€rFrFﬂ

0.471 grgr ger Arfog /it & 9% o6 39 Afoes € 99 gu f[<e egrs
a3 ?

Ans. &

0.472 378t Hat fiw 7t € Fuzst fdgt & AUSd As 2

Ans. IS Bt BT SATT A

0.473 7€t Huz Frg garer #t € fuzT /t & findt & 73 foo3 a9
Afog ¥ 996 {8 yuz it ?

Ans. U ds At 9rg ofgaifse Arfog wt
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0.474 faost gu &9 f3t et €t Ao 3° yrs J & do ds /it a9
36 o< A & WTUE A1Es T »is®T AHT g939yd BR 2 wa
8 UOHA™S g o fazmfenT 7

Ans. €0 Tt uzat

Q.475 U5 U HY 319 3fE Arfog i € ues oat /e’ TAH UTSETT At
3 AE of 3B feue@at ndst, 8€ awH w3s »3
ot famrg &9s & A fdgT & fogmet 2

Ans. Ivgr oy fRw #t

0.476 2019 feu fity g <o faost I3maet Haet AT Idt I 2

Ans. U&Us HF 39 576 €< Al HITI™H €7 550 AT Yd'H feer

0. 477 g ety fRw it & vifyz & T3 fam yuz i3t ¢

Ans. Htwieeyg Afag

0.478 g ger Arfog Ht & dfonr & gamdt niugt & fefenr 2=

Ans. f3&

Q.479 U5 Us At g1g difse fiw #t & 3t vat fiw 7t €t fam mimers
3 A oferied rrfog & Aer A < 382t &ar & rifizre
3fanr ¢

Ans. FATE ot 3BLST

0.480 9 <ty fAw At far niAgs S nusT AR JE g ez &
%I I mire 3 /Y gfored Afog viue AtA 88 U/t 2
TIst fEg3eaizT ?

Ans. IEEMT H 270%T ATfag

0.481 393 & uedt YUz a9 3 ufos faoz 3418, I3
IJHAS ?

Ans. a3 uUturHt

0.482 g2 Afoast & gig Arfog & BASS few fagat aet a¢t ?

Ans. AT

0. 483 Aftr AR faoSt Tt e Us 3T AT T ?

Ans. H g9t Arfag At
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0.484 AC FET s IO BET A S nuE 83 Re w3 T 3 337
gu8= <t foHI3™ &% nige™H i3t 3T 8R AN 3 USHET
foe fagmHs As ?

Ans. g9 EE® AT

0.485 ds b At g 391 g9red Arfag it § afonet & f3sa fdst &
Harfent ?

Ans. gETqEfesTH

Q. 486 37t W&t fiw 7t @ fuzT 7t fags g9 Arfog #t € g9t oo
et Hat fRu At B amme 2

Ans. UxUs HT 39 afgarfe Ao

0.487 g3 Heg it € fdé rae ds ds At 919 of Arfog #t f<e ean

J5 7
Ans. 6HIT |
0. 488 3=t grgeH it @ niaHs fog Jfen 2
Ans. IFRIA|

Q.489 3=t JI9TAH At & % fas AeTte foy 2

Ans. 556 &E3 ASEIT |

0.490 ¢t ¢ {34 Fae »i3 AL Us Us A g9 Jfg Arfog At fSe
TIH TS ?

Ans. 123 HEE WS ARSI |

0.491 et Hat TRU A e ST 3 fusTEr STH AT AT ?

Ans. H3TET&™H HOST T8t 3 fUST T STH TS WSt ETH AT |

0.492 > ds At 31g difde fiw 7t Hora™ araT 3t Hat fifw 7 3°
foueret ot S far s H a® yffa 3 2

Ans. ‘eHRHTEZ’ |

0.493 s G5 Ht g dfg Aoy #f < gret Ko fidt grar fam wiar 3
g3 war3a 3 ?

Ans. 14 a1 3 a1 93 34

0.494 391 W% G5 G5 Ht 919 3@ wiog +t €9 fan viar 3 fan
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WA 3T g I 7
Ans. a1 94 3 a1 150
Q.495 991 916 &9 Touet {98 wiar I IR M ST wam & ?
Ans. a1 151 3 %idT 346
0.496 U5 o Hi 919 &76d €< A/l Ha9H § foat 8Ha fee ud um

U3E BE St faparr 2

Ans. HASHAS |

0.497 ds ds H 3 miHIeA Ht Ho9H € Us U6 HY 919 4 Arfog
it f<o o rge i3 fda gmar i< 76 ?

Ans. 907 HSE, 17 39r {9 |

0.498 I TG ot g1 U G Ht 919 S o ST fam
WA 3 TIW I ?

Ans. ¥idT 151

0.499 U ds H 39 ofE Arfog it <o H 39 »iors g /i HoaA &
faa aae fas gar ffg as ?

Ans. 2218 HgE, 3099 ffg T5 |

0.500 o193 3 G5 G At g ofsdife oy #f et fagh & wier
SETdR T Ul 3 As, By HAE € dt SH AG 7

Ans. JA3HG M3 ITHE

0.501 ‘gzt ot fooR 919 wifow +ft & geer 3 7

Ans. G5 G5 Ht 919 wiaws €< Aiio Ht

0.502 7t deyg wiow (§a set) & »umafre (g Uga) o
ot gt ?

Ans. 1661 EHet

0.503 "ol = Arafed wag ot 3 ?

Ans. &', §3, ufe3d
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0.504 'godt gt fam gt feg @ 2

Ans. 91 Bt

0.505 fag™ 3 &gt o groemar #t gadim miog #t w3
qaend 1 Hird Fiog # € foone aaerfenr ?

Ans. WHIEd Tus iy

Q.506 HAE Ygr € ¥3 f9a3 91g Arigg #t 3 iz At ?

Ans. Us G Hf 919 dife fiw

0.507 "d5 U Ht g9 difde fw #" € S+t et "dede” @8
g S0 © off & ofmr ?

Ans. T3 sarar

0.508 45 G5 Ht qg diffe fiw +t & Jaret @ vy fdg &3
Sfenn ?

Ans. YIS T IS

0.509 89 ulgses de Ht fim 3 Jaret & w3t e s g A
39 e fw # & g30 efonr ST Iuet 9 a1 39
I9d 3 76T & Hifgnr HE 7

Ans. 3Tl FTSUE Wit

0.510 fag3 HABHS! Het Taen 3 saret © B3¢t ffg "is ds
t 99 e fiw" @ o8 »uE 919 Y39T Aig3 FraT i@
At ?

Ans. lg 97 A9

Q.511 Jaret & B3t €9 fan Qe foond #3 3 45 ds Ht 719
difge fAw Ht <t »riR 575 goredt € Aoa feug ?

Ans. WJ3 fqus e

0.512 45 45 H/t 319 diffe ffw # € Afza dar i #ft o o
& Hi, figr 3 garet &t saret e g fonr /it ?
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Ans. Ht fqus ge
0.513 gt graen Ht @91 fagr & gt dia3s qu fEe aret Aret

37

Ans. 3l &€ BB

0.514 St 3¢ ¥ Ht 'Fur #t ear Ife3 faah Jeee g5 ?

Ans. 10

0.515 St &€ &3 #t ‘dur dwr goeer faodm s few
5 ?

Ans. &9t 3 Urrst few

0.516 g9 ST AW gged it ©ar At fia €3 fom I fRw
wyd Mia3 As ?

Ans. &9H wiyar feg

0.517 AA9 ¢ fefzom R A9 3 ufowr aterdt yar e u=wr dmg
f€9 fan © W39 J2 3 Jfor ?

Ans. g9 g fiw # Soveg

0.518 Ht muHet wige #t W3 Tt g2 wudt ot fan g o
e d ?

Ans. 97 916t

0.519 A3 3 fipmer grouet fam g1 ff9 @ 2

Ans. 97 916t

0.520 g U (feiEas) fée fad it mote 98 2

Ans. &JISAT 7Jddd

0.521 g2 U (eiEtas) e fad fiv &<t 5o =2 o ?

Ans. SdISdl 3 Idd

0.522 Hig v 3 fium @ fam faB &t Wardet 99 et ?

Ans. dHdE
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0.523 <37 Wgwa o€ Jfenr 7

Ans. 1762 ERet

0.524 fiyr @ Ae 3 ufod iy seg de As ?

Ans. FJded qyd fAw

0.525 firy fimer <t fareat fast /it 2

Ans. 12

0.526 J913 AY edte #ft & fdat ot 45 4o Ht 19 dfg mfog
fGgewmd ?

Ans. 4 WO 2 99T €9 W3 12 ASd

0.527 3913 dfeem #ft & fdat ot &5 s wt g dfg wiow A
fGgemd ?

Ans. 40WEE, 16 I9T f<9

0.528 9183t o3t U5 U5 Ht 99 g wlow # S8 fam ¥ 3
mfsz 3 ?

Ans. ™d1 154

0.529 G5 45 Ht 919 o'&a €< #ft Hogw & wud Hies a3 €9
faf&n Gamrimr St ?

Ans. 4

Q.530 3¢t w3t At 919 we Ee faodt Aer feage me 7

Ans. @yt aran

0.531 g7t fonrar it § fa< mdte iz famr ?

Ans. d0H Uet oo B a

0.532 G5 G5 Hf 9@ 391 goed Aigy # § fae mdte otz
famm 72

Ans. iR U3 3 AT 99d

0.533 46 G5 At 919 difee fw & yam & e ?
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Ans. 1666 ERet

Q.534 Ht yea wfgy, 7 9 §s §s H 919 diffe fiw # e yamw
nirers 3, fen & fae e fafen wer @ ?

Ans. Rg 5y RTI |

0.535 343 Ht gfafea H, vea wivg w fsanre fdgr 3 aaerfenr
t ?

Ans. HITW A3 fRw

0.536 Ht muHet Arfoe #t & wet faol a1g wiiow # < geer 3 ?

Ans. Uc G5 Ht 919 mions €< miog #

0.537 5 ' AW  goveq 3 rafde €3 o oHe &tz ?

Ans. W& 1710 €

0.538 I It U5 G Ht 919 g Aiog #t e fan wiar 3 fan
WAl I e I ?

Ans. dT 489 3526

0.539 3913 AT it & fdat Tt ds 45 wt g o wiow # e
W ?

Ans. & mee

0.540 sr= ger Afog it & fqT3t Ay 3 nid s g8 13T ?

Ans. TJHEH&AT |

Q.541 3=t 37g fiw At &t mdtet fam 3t 2

Ans. W9

0.542 g e fiw /t goreg @ Y39 <t Adte! fom Jet 2

Ans. Hfadst

0.543 At Afgs Arfoe & ot fRT ds ds HY 39 s7oa 2< At € 38
HEE I6 ?

Ans. 3
0.544 U Us At 919 afgarfe Arfog wt @ AN 38 WZ Aemgt €t €A
At ?
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Ans. 2200
0.545 39 &aat 7t & fag AIta f3mmfamr 2

Ans. A®3TGUT BU

0.546 Ht Ay Arfos 7 & gt faos ag Arfog #t & Ger<t 9 2

Ans. mrfog At gg difde fiw & Hoes

0.547 s ds At 99 afefgrs Arfog it § gfonret f3ua sarGe e
AgTal AHT fagt § yruz Ifemr 2

Ans. I S3TH

0.548 ds U H Ig »idrs €< # ufad 979 g9 Arfags & grat

Ans. = HOs

0.549 w3 Arfog g9 it fao=t <t 2 fas9 U ST A5 2

Ans. deredt

0.550 3913 JEIT 7 € fdd A8 U O /Y I9 3fF Aoy i &g
eI TS ?

Ans. 541 F°8% |

0.551 U5 U Ht g9 397 goea Arfag #t mdtet 3° ufgst mdte
JT T8 g5 Arfag 2 fionms ity 378t vt emr it mis et
ASteR M foms R nmuRfe gt ®ae A ?

Ans. 3T

0.552 €T T990 H& 3 T U6 Us HY I 391 9929 A &
I UI T Ties & AT gt & aumEm 1St 7

Ans. I HITEA A

0.553 U5 Us H 9d 39T 99m€d dt HU9™ & g wJ € fesurst &F
A< gt & SuHA oSt ?

Ans. It AStERA

0.554 U5 ds Ht 319 37 Io7e9 At HoeH o mdter 37 ufowt
fxgz fyt €t wdiet v g3 fEa sarfenr famrr fa fegt
o At AN fegf e Adle RS ys o e g Iz & ara9
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&dt 3 @ grdter ¢

Ans. 3T AT TR AT, 3TET fonet A

Q. 555 IEHIGT Us3T § Us U Ht ag 31 goed Ht Ha9H €
"Js o9 forBs =% Us3 fagur I #F = 3=t vt
TTH # »i3 37 A3t @7 At 27 vmiyR feg ot famsT At 2

Ans. 3t H3T TTH ft 3 3T BT @ it US3 fagur I A
THH T US AS

0.556 U3 fagur IH 7 7 vif3 e & 3" amiE Us ds it ag
diftie fAw /it Hog™ & oz &f I fumnrr 2

Ans. 3ret fagur fRur

0.557 Us3 fagur I 7t 3 i@ Hies w7 Ag 3 ufom aan g o
e Bt ?

Ans. SarerTT@y

Q.558 53 fxgur av 7t 3 \rs fefonr fagt 3 yus aist ¢

Ans. 3=t gA9 AWt

0.559 U3 fagur I At & I9 Afog € 996 fee H{f »ideud
rfog IfSfentt gA3T fefon @ &% &% J9 faod]

fefenr gfoz a3t ?
Ans. fezTQoraat
0.560 U3 fogur 90 7t ot mdiet fam It 2
Ans. THIS T It

0. 561 ¥ d H{f I9 31 sored A #t & ues AiF fedt 3°
@ fant gt A3 it IR fo'g ot I3 fagt T wa
I ?

Ans. IS IETTHRE AT wI

Q. 562 U5 ds Ht a9 397 g9TE9 Aoy At € Ues HiF e 3
e fantt fao3 HA®BH® Td<F o ITEt A3T At &%
it gt ¢

Ans. HIgqud feu RIS T9drdt Ara it
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0.563 HAZ JH T HIEHT AI6 T I gfo 39 fAW A T
Af3argar HT3T 7t Hiet 973 &9 wit fagt & ry's<t A5 ¢

Ans. I BT AT TEAET AT

Q. 564 HA3 TET T IS II6 B It gfg 39 R At ©
Af3gsar fusT 7t = ot &t A 2

Ans. 3Tt Hat fRW At \dte

0.565 3=t gfg 39 fRW 71 & HAS T8t T g i 8 13T ?

Ans. fo@ Sgarg &t far {t mideyg Arfog

0.566 IEt gTS B9 37N, T i3 Us ds At g9 difde fiw it
HITH & fagt & SuHE 137 7

Ans. 3t gfgsg fRw At

0.567 fa=ge & T 3 HAS' & Adl AH 40 Haf=3n <F
niareTet fagt & St 2

Ans. HT3T 3T A

0.568 fuegre € =™ § 40 HAf3n & ATt 39a Us Us HE I
difife fitu 7t Horo 3 fom § fsa3 oF &t uEE st 2

Ans. ahlasﬂ-dm&ra

0.569 AIAT &<t 3 fe23 QuIs Us s H I9 difde fARw At
HITTH 2 HITS § et 3t Hat it o foelt & 3 o 3t
fo'd fodr Bgt @ afuds 3 I9 Aewt & gherdt fagt &
fesTst ¢

Ans. ISt &ardin fRw At

0.570 F=J ¥ AT 8RN ot § W9 X T ¥ Fo A <t
At T gewT gt & fonr 2

Ans. Ig ST fRW At =g

0.571 Aafde € gae9 IFte ot w3 dies o &€ = usHr
g9 fagt 3 22 Afomafent & AT T e
o 7

Ans. ggT ger fHW it ga=g

0.572 # gfories Arfog &€ u<s uast 3 &6 a9 Afags €
URE 996 UT ?
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Ans.
0.573

Ans.
0.574

Ans.

'S Id ATfogs

fxa3 g Ao fe'q Tt niuzt Ifoz Aq § & 5T §uds
g 8E adt arg 7

U s Hf gig Jifde fiw

g2 Afogaent @ Fdier € €3< g8 AN fxo3
HII® 5279 & I BT SHTT HifamT HY ?
&9 Ad HOHe ot

0.575 2¢ Arfogaent’ & "AJtEt AR I &7 a™MIgT H9s &%

Ans.
0.576

Ans.
0.577

Ans.
0.578

Ans.
0.579

Ans.
0.580

Ans.
0.581

Ans.
0.582

Ans.

ST AT HOHE YT {8 S 329 AG ?

HSIACH

g¢ Arfgerrfentt § 319 o9 foss =& A oe AHS 8aT 3
THS a1 5 fagt & H3 € wre §3fan 7

g g7 fRW 7t go=g

g¢ Afggafent € AJEt & A Us Us At 19 difde
fiw 7 varem § fagt & gafent 2

&IT HIt
m%mm@w@s%wﬁmwafa%
Hdte =T famr 2

UsSiys T

f&a3 HA®H™S BE TI<F & Us Us H IIg »idds o<
ot gt feg'u miew Saret 2

ATET Hhort Mg

gt 9/ i3 H=T gt /it ' viuA €Y Aw fam
JfeniT ?

3%

JIend 7/ sex funr8 mrfoy fxa3 g Afog &
Ufe ST oE § AHIUS 3 ¢

U6 Us HE I1d 376k €< At

fAy Jg € 303 7968 § Agd’ &'% &9 o HIlE A3
famr ¢

g g7 fRW At goeg
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0.583 == A AT fAW IBTHMT T H13T fUST T NS IHE

8uds Bat &t ug=fur fagi 3 1=t 2

Ans. H3THEJ A

0.584 Hf »deys Afog & 3 ftm a9s ®et Us ds Ht a9 difde
fAw wt Horgm & & o sz ?

Ans. U+

0.585 »ifH3 2 d= & & AT IJ AN U6 AI6 BT JH 13T
AT d ?

Ans. U+

0.586 H aforea Afog feu gofors € foms Afog ©F B9st
THUH f&g fdam nisg 3 2

Ans. feage

0.587 Ht gforea Afog fed gafers © foms Afog fam ©
UK T 7

Ans. ISt 3 HEST

0.588 it gfoies mrfow feu mefeors © fors wiow &5
faasr fors Arfow gn fors Afag 3 fe'age Qo ¢

Ans. #H oforeg Afog & U

0.589 Us d& Ht Irg 31 gored # § »iad feu 7y fe'e {3 fea
I feporr fapor 2

Ans. 9fes

0.590 U5 Us Ht 919 3q7 gureg #t § »mad fed e 7y feg
I fepor famrm, 88 fXo3 I9uH RIS T 2

Ans. JIIIIH

0.591 45 Us Ht I MIAe €< A HISH & MUET URS Hotd
8 7% Yy=TJ 137 7

Ans. I=tefanr

0.592 dx ds Ht g9 difde fiftw & Hoew & A9r ufges fA g
feefznr, 88 fauz J9uH ARSI I 2

Ans. JgEnTIT { ufgews fegg Aoy

0.593 graT {3t ITH HfadT A & fogret argt g°u <F A= <F yag
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U5 Us | 39 difde fiw #t Hoew § fagt & geret 7

Ans. @ITHTI

0.594 Ht »ifi3AT Aoy Afgg TAT8E AH U Us H aIg ITHE™
7t Ho9dw & fa8 »ug ufgeg = Ifoe o feaa
garfenr, 89 fxozT I9uH ARfE3 3 ?

Ans. IIETT I A HITH

0.595 &3 58T < AT FrEl Ao At M3 IEt I A 3 gt 3
BT 7

Ans. U5 U H g wiHIEH A

0.596 g=r U fiw #f far mras 3 39 feg 3U da9e As ?

Ans. S ot 3Bt

0.597 343 Ht wHeHr Arfos fed mRfsz Hiar fim © Tars
difge fiw 7t € 9d&r feg 3 a7 ?

Ans. IES €t Ha3

0.598 Adld 83 AR H'3™ ATfgY ad Hl ©t efen=t 8Ha faat
H ?

Ans. 66 A&

0.599 Ht muHat Arfog #t € »ise A3a / miFAeust €9 goH
famrst mee faat 2ra nifenr 3 2

Ans. 74 @3

0.600 39y © dfgs 3 I # filw 3 far = Jg fost 3A
d 45 45 Ht 919 dfsfams mrfog #t § fi&&t g€z
gt I ?

Ans. ©es TaH I

0.601 g9 steg # & do ds Ht ofsfgms Afog # 3 yga
et fag S ?

Ans. TI&EE Udt

0.602 37t grge™ +Ht & €7 AR fast B Mt A fegr =
fuzT 7t & wias gHE 13T ?

Ans. f3s A
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0.603 3¢t grgem Ht & AAfg3 €t uztet fagr 3% it 2
Ans. 91 U 033 Ht

0.604 37€t 9IdT™H HI 3 I Hdlg 3InfamT ?

Ans. 1639 €m<t
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